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INSTRUCTIONS TO CANDIDATES

Do not open this booklet until you are told to do so.
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Answer all questions.
You are not allowed to use a calculator







”

Bo‘dkiet A

\ 'Questlons 11010 carry 1 mark each. Questions 111015 carry 2 marks each.
“Foreach qu‘estlon four options are gnven One of them is the correct answer. ~

“Make your choice (1, 2, 3or4). Shade the correct oval (1 2, 3 or 4) on the Optical
~ Answer Sheet (20 marks)

1. . Which of the following is likely to be the mass of this Examination Booklet A you
are usihg now?

4)) 2g

(2 209
(3) 200g
4)  2000g

2.  Round off 37.952 to the nearest tenth.

(1) 370
2) 37.9
3) 380
@ 400

3. The figure is made up of two identical trapeziums, ABEF and BCDE.
AB = BC = FE = ED. Which of the following pairs of lines are parallel?

(1)  ABJFE A __c
(3) AF /I BC
(4  ABJ/CD




6 :10 = | - 35. | What>is the missing number in the box?

1 15
@ 21
(3) 24
@ 31

What is the value of 50 + 20007?

(1) 40
(2) 0.40
(3) 025
(4) 0.025

Mabel paid $4 for 20 packets of stickers. How much did each packet of stickers
" cost? ' ' '

(1  50¢
2  20¢
@ ¢

@ 2



b4

What is the: Va|ll90f mt %’g‘ i

@ 19
@ 38
(4) B8

E In the square grid below, Q, R and S represent three landmarks in a town. In
which direction is R from S$?

() E
@ sw
(3) NwW
(4 NE

Which one of the following decimals is closest to 1%?

(1)  0.006
@ 0012
(3 05
@ 11



M.

12.

13.

@ 175
() 280
(4) 560

The pie. chart shows the favounte actlvmes ofa group of chlldren 70 children -

: "mdlcated cyclmg as theur favounte actwnty ‘How many chsldren llke jogging most?

(1) 105

Skating |

Stanley is (5p + 12) years old. His sister is 9 years younger than him. Find their
total age 3 years ago.

(1) (5p + 3) years
(2) (5p +9)years
(3) (10p +9) years
(4) (10p + 12) years

In the figure below, PQR and RSU are tnangles PQRis an equ:lateral tnangle
UQ = UR and ZURQ = 32°. PTR and STUQ are straight lines.
Find £LTRS.

Q

(1) 320
(2) 40°
(3) 48°
4) e8°




*

14. The table below shows the test scores of 150 students.

T Score R Number of studentéf
35-44 ' ) Y
45-54 — . 36 ]
65-74 | 42
Above75 | %3

60% of the students passed the test. What is the lowest score that a student must
obtain in order to pass the test?

(1) 35
(2) 45
(3 55
4) 65

15. A tank contains 5 litres of water. 40% of the water in the tank is poured into a
24-litre container which is already 25% filled with water. What fraction of the
container is filled with water at the end?

OIED
@ =
®
@ 3
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©_( ) Class:P6SY/C/G/SE/P

5.¢ rry 1 mark each Wnte your answers.in, the spaces, prov:ded
For questlons which. requure units, glve your answers in the units stated. (10 marks)

16. Express 207% as a decimal.

Ans:
17. What is the quotient of 4056 + 8?7
Ans:
. 1
18. Find the value of 66 + s
Ans:

Do notwrite in
this column




Do not write i.

1%9 Each of the followmg shapes was folded usrng a piece of identical square paper
' i y to'hav r penmeter as the ongf_:‘_al prece of |t colum

,sﬁvare. paper?

Original square piece of paper

yd N
N )
Figure A Figure B
e S,
i
L L
Figure C Figure D

Ans: Figures and i 1




20. U§e all the 'dig[tsp 2,3,4,8%0 fo;m_a number closest to 400()_, o ' g?.?s"cf,ﬂf

Ans:

21. A train left Town J on Sunday and reached Town K at 4.10 a.m. on Monday. It
took 6 h 45 min to travel from Town J to Town K. At what time did the train leave

Town J on Sunday?

Ans: p.m.




Lydra then poured water rnto Tank A and Tank B Do ot write i
this column

: Both tanks are: emp y atfirst.
_untrl bath tar ks jf'ﬂlled to therr brim. If both tanks have the same height, how
much more water did Lydra pour into Tank A than Tank B? (Express your answer

in percentage)

TankA ' Tank B

30cm . : 24 cm

Ans: %

23. James walked at a speed of 70 m/min. How far did he walk in 3 h?

Ans: m 2




.
: : ’ Do notwrite ir
24. A car uses 8 litres of petrol to travel a distance of 104 km. How far can the car ~  |this column

.. travel on 30 litres Bf"pe

Ans; -~ km

25. Four different odd numbers add up to 24 and none of them is greater than 13.
The 2 smallest odd numbers add up to 6. What are the four odd numbers?

Ans: , , ,




| Questaons 26 tov‘30 carry 2 marks each Show your workmg clearly |n the space N
for each. questlon and write your answers in the spaces provnded e
’For questlons-whlch-‘requlre units, gwe your answersin the units stated (10 marks)

- 26. - Mrs Goh had some rice. She stored —g— of the rice in a container and packed half

of the remaining fice into 3 bagé. Each bag of rice weighed 4 kg. How much rice
did Mrs Goh have at first?

~ Ans: _ ' kg -

27. Last week, Ah Seng sold a total of (8d + 90) kg of durians during the weekdays.
He sold a total of (6d — 43) kg of durians during the weekend. What is the average
mass of durians sold last week?

Ans: kg

Do not write il

thts column




ho’ws a sequence of numbers starting with 8.-What is the value

8 11, 14 17, 20, ...

Ans:

29. The rectangle is made up of two 12-cm squares. AB // CD // EF. Find the area of
the shaded parts of the rectangle.

A <= B

Ans: cm?

| D& not write in
=} this column




Mr Yap has 65 blcycles and tncycles in hls shop:' The wheels of aII the blcycles Do not wiite i
PRSE e + this column -

and tncycles add up to 174

How many tncycles are there m Mr Yap s shop’?

Ans:

End of Paper 1

Please check your work thoroughly
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Questions 1 to 5 carry 2 marks each. Show your working clearly in the space below

;each questron andwrite your answers in the spaces provrded For questions which

o "requrre umts,, grve your answers in the: unlts stated. . .. ... ... (10 marks)

1 Eleven WOrkers ar:e} needed to sew 176 bieéesbf Qarments When the number of
| pieces. of garments i rs mcreased by 96, how many more workers are needed to
sew aII the garments wrthm the same time, presumrng the rate of sewing by each
worker remams the same'?

Ans:

2  Inthe figure, XY and VZ are straight lines. UVYWX is a rhombus and WYZ is an
isosceles triangle. ZXUV = 83°. Find ZWYZ. |

Ans: o

Do not write in.
this column




G, The ﬁgure below shows a trapezlum dwuded mto three parts A B and C The ratlo Do o not write in
: thts colur '

; ofAtansZ 5andtherat&oothoC|s3 2. R MR "
~ What is the ratio of A to B to C? (Give your answer in the simplest form)

Ans:

4. The table below shdws the rate of water charges for homes. Part of the table was

éccidentally torn off.

$1.19 perm?

First 40 m3

Above 40 m? /f

Mrs Chan used 73 m? of water and paid $95.78 last month. What is the water

charges rate for the use of water above 40 m3?

Ans: $




Do not wiite in’
;} this column

5. IfZoe adds another 65 stalks of camati basket of flowers, the fraction of

'~ did Zoe have at first?

Ans:




"'For questlons ,tolv 18 show your worklng clearly |n the space below each questlon
'n;‘the spaces prowded _The number of marks awarded is
] at the end of each questlon or part-questnon (50 marks)

shown in bracketst

6. Pete, Mark and Jim were given some funfair tickets to sefl. Each ticket cost $5.

Péteéold% of the tickets. Mark and Jim sold the remaining tickets in the ratio 1:3.

" Pete sold 115 tickets more than Mark. How much money did they collect
altogether?

Ans:_ - 3]

7.  The net of the cube shown below has a perimeter of 98 cm. Find the volume of

the cube.

An§: | [3]

Do not write ir
this column




8 Hamzah drove from Town A to Town B ‘He took: 1. d hours to drive. —g- ofthe -

3
dlstance ata speed "of 96 kmlh At what speedr must he contmue'to’dnve |n':order

2
to cover the remammg distance in 5 hour?. (Leave your-answer.in. mlxed number)

Ans: [3]

9. Gopal packed 10 identical vases into Box A. He packed 8 such vases into Box B,
in addition to 5 jugs, each weighing 1.2 kg. The total mass of the vases and jugs
in Box B was 3.8 kg less than the mass of the vases in Box A.
What was the total mass of all the vases and jugs?

Ans: ' 3]

Do not writ_e'.in'

‘_wttjais column




-0: The.ﬁgure below not drawn to scale shows 3 overlappmg |dent|cal tnangles WIth | 54 not write in-
overlappec areas of the same size, as indicated by the shaded portions. Thel e ook

- area of triangle EFG is 11 cm2 and thle" area of the who!e ﬂgure i 323 cm?, what is
4 ’--the area of each shaded part? : SRR

/><\

— 16cm —*

Ans: -~ [4]




f1.1 ] "Tan‘\k & Tank Y each contaln some water If Tank X drams water at a rate of é',?s"é’-.fm";": in

: ':A }} If Tank X drams water at’a rate of 34 Iltres per hour and Tank Y dratns‘water at a

- rate of 102 htres per hour, Tank X would be Ieﬂ w:th 1176 htres of water by the
time Tank Y is fully dramed

How much more water is there in Tank X than in Tank Y?

Ans: _ [4]




ighs 1 5 k' A 'cket of 1 rice welr" hsi_y1 7 kg more than a B0 vctwrisn

thls column

paekets‘of sugar than nce m hls |

shop The total mass of sugar and nee m h|s shep is 225 7 kg How many packets

of sugar d,.v es the shopkeeper have"

Ans: 14




b4

13. _The bar graph shows the number of concert trckets sold for the vanous seat Do fict write in
i : ; ST -this column

"ffcategones' except Category 3

100 - o
80 ' : A
] ) - 7 -
; ; T p T & X
Number 60 L R e
. ] ] 77
of . 77 ]
) . I '//
Tokets |, T
) - (77
| N 7
] . 77
T U 77
20 B = 77
] " 77
] A 77
] . . 7
1 . R 777
0 B 777

Category 1 Category 2 Category3 Category 4
The table shows the prices of the tickets.

Type of Ticket : Price per Ticket
Category 1 $88
Category 2 $68
Category 3 $48
Category 4 - $38

(a) The number of Category 3 tickets sold is equal to the average number of
tickets sold for the other categories.
Complete the bar graph by drawing the bar to show the number of
Category 3 tickets sold. o [1]

(b)  Among the 4 categories, from. which category was the most money
- collected? How much was collected from this category?

Ans:&) Category: (1]

b) Amount: [1]




| dis part of a solld ﬁgure E and F are two dots m the gnd | Do not wite ir
re aocordmg to the mstructrons below \ ' cowmn

R J

[
[
®
®
[ ]
[ 4

| (a) ‘Draw two lines, AE and BF, such that they are both parallel to CD. 1]

~.(b).. - Clearly label and join the points D, E and F to form a triangle DEF that is
' identical to triangle ABC. [2]

(c) - Write down the name of the completed solid figure.

Ans: (c) [1]




15 Meredlth tried to ﬁt some 3-cm cubes into the contamer below. The container has
' '. ‘:’;a dlmenslon of24 cm by 18 cm by 9 cm. A cuboid sohd measunng 4 cm by 4cm
“by9cm -has.been»ﬁxed to the exact centre of"the contamer o

What i is the maxnmum number of cubes Meredlth was able to fi t mto the contamer'?

24cm |

9cm

18 cm

b

24 cm

Top View of Container

Ans:

[4]

Do notwnte in
this column




re were 1600 bluevand yellow ’marbles ina contalner When the »number of blue
ellow marbles mcreaeed' by 15%, the
/ n the container increased by4 5% L '
f' .’How many.blue marbles were there in the oontamer at f rst?

Ans: 51

Do not write ii
this column




Do not write in
: thisoplumn

Ans: [5]




""Usmg then value of the ca!culator find the area of the shaded parts of the ﬁgure.

(Leave your answer correct to two decrmal pI _ces)

emrd-pomtof the

40 cm

151

End of Paper
— Please check your work thoroughly —-

Do not write
this column
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50%
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390 km
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&

3 245

F44 em?

Q12 3 _le




Q30 44 tricycles

Paper 2

Q1

Q2

Q3

Q4

Q5

Q7

Q8

11 workers —> 176 pieces of garments
176 + 96 =272

176 +11=16

272 +16=17

17 - 11 = 6 workers

300 -
1—';'—83:" => 48.5°

73~ 40 =33

1:19 x 40 = 47.6
95.78 — 47.6 = 48.18
48.18 + 33 => $1.46

5u—->65
fu—>65+5=13
13 x 4 = 52 stalks

8-3=5

S5u—» 115
lu—115+5=23. .
20u = 23 x 20 =460 -
460 x 5 = $2300 '

98 +14=7
7x7x 7= 343 em?

Distance —> 128

ot |
Il

?f:' 128+ 4 — 32
32+ -z- = 30 Kis/in




SCqS  rfee

Q9 12x5=6
38+6=938
10¢—8v =2v
2v—> 9.8
lu—=>98+2=49
18v—>4.9x 18=88.2
88.2 +6 = 94.2 kg

Q10 323-11=312
312 > 3u+3p
112 > 1u+2p ;
336 — 3u + 6p
336—-312=24
3p—>24
Ip—>24+3=8cm?

Q11 8u— 1176 —-420="756
lu— 756+ 8=94.5
X =945+ 1176 =1270.5
Y —>94.5x 3 =283.5
1270.5 — 283.5 = 987 litres

Q12 Sugar — 1.5 kg
Rice = 1.7+ 1.5=3.2 kg
22x1.5=33kg
No. of packets (S + R) —= 225.7 kg
Mass of equal packets of S + R — 225.7 — 33 = 192.7 kg
IS+1IR - 1.5+3.2=4.7
192.7 + 4.7=41
Sugar —> 41 + 22 = 63 packets



Q13 (a) 68+96+64=228
228 +3=>76

Draw bar graph te show 76 no. of tickets

Category 3

(b) 68 x 88 =25984 (Cat 1)
68 x 96= 6528 (Cat 2)
48'x 76 = 3648 (Cat 3)
64 x 38 = 2432 (Cat 4)
“~Category : 2
Amount : $6528

&
¥

Q14 (a-afb)

Q15 7-6=1
4-3=1
1+1+1=3
2x3=6
6x2=12
1layer — 16 + 16 + 12 =44
3 layers —> 44 x 3 = 132 cubes



Q16

Q17

Q18

SCts PrgLit]

b 90B

T — 1600 — 90 = 1510
T15% Y

T — 1672

15% —> 1672 - 1510 = 162
1% —> 162 + 10.8

100% —> 1080

1600 — 1080 = 520 marbles

BC —» Ip+20=2u

CC— 3u+33=3p
2u—20=1p— x3
6u—60=23p
3u + 33 = 6u - 60
6u - 3u =3u
3u—>60+33=93
lu—>93+3=31

Total — 31 x 5~ 20 = 135 cookies

2u— 12
3u-—>-1_;2-xlB=]8
ixnx40x140=4007r

400 7z - 800 = half left

B-»%x13x28=252
c—>§x13x 12 =108

400 7= — 800 - 108 — 152 = 96.64 cm>

“






